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Instructions for the Candidates
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on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Geography
Paper II

T

gyatent 11
Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains 50 multiple choice questions, each carrying
Two (2) marks. Attempt All questions.

oA ¢ A1 YUY THY 50 SgaAtd U o STgd Wdeh YATE g9 (2) T ST

wd T e
1. Concept of uniformitarianism stated | 1. W= g9 It ‘FEAEAERE ' GhHeud]
by James Hutton was further [ oo IRy ﬂé .
enhanced by : .
(A) 29 TS
(A) Louis Agassiz
(B) =Tcd o
(B) Charles Lyell
(C) S ®IhaR
(C) John Playfaire
: (D) =t e
(D) Karl Gilbert
2. Which of the following is an example 2 ATt & ' STaIfiTSe el
of residual mountain ? ST 3T,
(A) Greater Himalaya (A) 9&q fedre™
(B) Aravali (B) 3Wact
(C) Siwalik (C) R
(D) Balaghat range (D) SEERE T
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Geosynclinal hypothesis was put as

an explanation for ...................... .

(A) Orogeny

(B) Distribution of continents and

oceans

(C) Crustal deformation

(D) Magma Chambers

Which one of the following is

essential for Karstic landscape

development ?

(A) Alluvial fans

(B) Glacial outwash

(C) Limestone bedrock

(D) Loess

APR - 36217/11—A

qfheql’ Higet el

(A) s

(B) Ee 3T HeErRre foawo

(C) g fawgu

(D) BERE =S

[ o [aV NN bV
HE USRI TIRTHHISN ETedTeTHehT ShIUTdT

& W& AEIEH A ?

(A) Sdle TEl

(B) Teuseie

(C) TA@rEsh qaAfere

(D) "




Convectional Current Theory was

put forth by :
(A) Du Toit
(B) Lyell

(C) Wegner
(D) Holmes

...................... is responsible for Green-

house effect.

(A) Water vapour

(B) Dust particle

(C) Suspended material
(D) Argon

Who introduced the idea of
‘precipitation-evaporation ratio’ in

climatic classification ?
(A) Koeppen

(B) Thornthwait

(C) Critchfield

(D) Strahler
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S — it
e

A) = ofe

(B) el

(C) R

D) B

GATHI TR 0T * ool —aTshHe oI’

& Hed FAYem HION wiEed ?
(A) =IUA

(B) ¥fHae

(C) fwafthee

(D) ®IR
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Assertion (A) : “Loose, sandy soil

surface heats up rapidly by day.”

Reason (R) : Air is an extremely

poor conductor of heat.

Select the correct answer from the

codes given below.
Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct

explanation of (A)
(C) (A) is true and (R) is false
(D) (A) is false but (R) is true

Which one of the following is not the
distinctive feature of the

stratosphere ?
(A) Its high moisture content

(B) Its stability compared to

troposphere
(C) Its dryness

(D) Its high concentration of

ozone
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faam (A) : 99, IEEE gI
YN CTHWRIqT Sfeig T droar. !

HIUT (R) : B &1 37Id HE ST o18eh
3.

@eitel HiehdiehTuen! TR feeheyq faret :

Hichdich :

(A) (A) 9 (R) Sl R 3Ted 9 (R)
7 (A) T 3TH TR I

-~

(B) (A) T (R) &l ek 31ed T (R)
T (A) o TgF TISHI AR

(C) (A) & TR e M0 (R) T I
Sl

D) (A) T I 38 W (R) T R
3T

WeATTUeh! HIvd oo™ da=sgs
AU AE 2

(A) I S STEdEM

(B) TUERMAT qotd e feerar

(C) =T HITSYOT

(D) A 3T S Shalehlul




11.

12.

pressure is

.......................

dynamically induced belt.
(A) Equatorial low

(B) Sub-tropical high
(C) Polar high

(D) Tropical low

Theory of coral formation is put forth

by e .

(A) Charles Darwin

(B) W. M. Davis

(C) C.AM. King

(D) John Pethick

Aleutian arc extends from :

(A) Gulf of Alaska to Kamchatka

Peninsula
(B) Alaska to Siberia
(C) Canada to Japan

(D) Alaska to Japan

11.

12.
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.................. a]'q\qmg'[lu?lch qud l-ld\d'

(A) fos@eita
(B) SU-3W0 Hicaeha S

(C) gala S
(D) ST hicaeg e

(A) STATERTE SAEM YA HTHIR

FHEETS
(B) 3TCTRehl URA HESET

(C) =78l 9gd U

(D) 3TcITE&=hT 9 ST

[P.T.O.



13.

14.

Vertical circulation of ocean water

is mainly controlled by ................. .

(A) Volume of ocean water

(B) Temperature of ocean surface

water
(®))

Ocean surface currents

(D) Atmospheric pressure at ocean

surface

..................... of the following is the
most important element of the

ecosystem.

(A) Food chain

(B) Food web

(C) Energy flow

(D) Ecological succession

13.

14.
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IERIEGEETCES G

(A) SRS S %o

(B) WFRYSE S draHqH

(C) WY Helrg

(D) WFRYSERIA AdeReid g«
SN A — S ST

Hewaqul 37T .

(A)

(B) 3T=SlTes

(C) SSigaTE

(D) ufifeerdien! TshH




16.

17.

In .o, period domestication

of animals was started.
(A) Paleolithic

(B) Pre-paleolithic

(C) Mesolithic

(D) Neolithic

What does “terrae-incognitae” refers

to ?

(A) Territory in the human minds
(B) Unknown territories

(C) Unorganised territories

(D) Imaginary spaces

Who has firstly divided the world
landmass into three continents i.e.

Europe, Asia and Libya ?
(A) Erotosthenes

(B) Hipparchus

(C) Aneximendar

(D) Herodotus

16.

17.
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g
B ?

(A) AFETAME Juae
(B) wIfed Tl YWl
(C) STH&E Yuael
(D) hTeqiTer AL

RIS 1 Helted

ST YHFT dF Se™e 34l Y,
7Y o faAfaamey avem o faarsH
® ?

(A) 3Lty
(B) fewmshd
(C) STRRAmTEER
(D) felreteH
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18.

19.

Geography is concerned to provide
accurate, orderly and rational
description and interpretation of the
variable character of the earth
surface. This definition was given

by :

(A) Yeates

(B) Taaffe

(C) Hartshorne

(D) Taylor

The concept of “Equator is a Great

Circle” was put forth by :

(A) Erotosthenes

(B) Hipparchus

(C) Ptolemy

(D) Pluto

18.

19.
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qeEt=a] JS3UMTaRA Jearcl dfersedr

3T, HAGRY MU HIfRR v T

FdelY WU WA Bl SATeA i
Areet ?

(A) Ficg

(B) T®

(C) =re=MH

(D) e

‘foeaaa § Jecaqes oe’ @ Hehedd

SIS AU 3Telt ?
(A) EAfE
(B) fewmra

(C) erHt

D) <
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20. Who has advocated that the

21.

22.

Geography is an ideographic rather
than Nomothetic ?

(A) Carl Ritter
(B) Hettner
(C) Peshel

(D) Penk

In the urban context, “Twilight

area” is referred to

of the city.

(A) Core

(B) Suburb

(C) Fringe

(D) City-Region

Which of the following is an unlikely
impact on the areas of origin of

migrants ?
(A) Depopulation
(B) Age-sex imbalance

(C) Increase of pressure on the

environment

(D) Decrease in traditional activities

20.

21.

22.
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‘e @ arEadeenfiaden e

FHEUTISHRG 3R’ § IV YIEhHd
A ?

(A) =
(B) TR
(C) =T
(D) U

TR TS TR’ T STl

(A) T
(B) STTR

(C) foawred s
(D) TRY<H

@AYkl YT GUTE ST dqra
AR BT Il HH TS 2

(A) TREEAT BH

(B) Fa-Torm s/qed

(®)) qITEROTER. FTEUIRT dToT

(D) TRURe fwameia we
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23.

24.

Three most populated states of India

as per 2011 census are ................ .

(A) Uttar Pradesh, Bihar,
Maharashtra
(B) Uttar Pradesh, West Bengal,

Rajasthan

(C) Uttar Pradesh, Maharashtra,

West Bengal

(D) Uttar Pradesh, Rajasthan,

Bihar

Laterite as a building material is

used in villages of .................. .

(A) Punjab

(B) East Maharashtra

(C) Rajasthan

(D) Coastal Kerala

23.

24.
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2011 =1 SVHTER YRAAA Sallfeeh

AREET AT dF T

g g

(A) IIRYLYI, fIeR, HeRm

(B) STRUSYI, U. oA, TSI

(C) ITUSE, HERTE, T. &

(D) YT, oy, foaer

TIoNTge, T SHIG! YR Hifeed T

Joffed Wedd  ITaLdrd.
(A) IS
(B) T8 HeNIsg

(C) TSTEIm

(D) fFIREdt i
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25.

26.

At an average, if the crude birth rate
is 35-40/1000 and the crude death
rate is 20-25/1000 which is declining,
then the country is ................... stage

of demographic transition.

A) I

(B) 1II (a)

(C) II (b)

(D) III

The majority of the world’s
population that is practicing
agriculture is involved in .................

type of agriculture.

(A) Pastoral nomadism

(B) Subsistence farming

(C) Commercial grain farming

(D) Plantation agriculture

APR - 36217/11—A

25. TR Qs SHIEX 35-40/1000 37for st

BV 2ol Fegal 20-25/1000 TEHAH,

AV T ATHEEAT HHHUAT

AT MR-

(A) 1

(B) 1I (a)

(C) II (b)

(D) III

26. WA Tl HOM dgaed @l

SIdd gy

lAch =]

(A) RO ¥eeh IUTeT
(B) SYSiifaehdl Sl
(C) =H™ &= St

(D) WAl Il
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27.

28.

Which of the following is not a type

of shifting cultivation ?
(A) Maquiladorus

(B) Milpa

(C) Chitemene

(D) Ladang

Assertion (A) : The labour is not
infinitely mobile and the labour
market does not operate freely under

condition of perfect competition.

Reason (R) : Long distance labour
cost and distance of labour
movement have to be examined in

the context of migration as a whole.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

27.

28.

APR - 36217/11—A

Tl foTeaTieh! RITaTE! SRd Y
YRR A& ?

(A) HHIATERH

(B) faew

(C) Tedfgm

(D) weM

faeam (A) : 7SR TRl Y= R AR
o HSRI STSIRUS IRgul Tqef= feerdfaria
HRIT0 HRRT T

HROT (R) : T =1 A5 @9 9
T FO AT IR

oo~

[geied]

REEIRE

(A) =T (A) 9 (R) SR ATea 3TfuT
R) B (A) 9 Irg TR0 3R

(B) Tl (A) g (R) SR 37ed 997 (R)
T (A) I AT RIS AR

EIet Hehdlshd I g I

(C) (A) & s 318, 99 (R) ® I
S

(D) (A) T % R, 907 (R) B TN
3T
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29. Who has coined the term conservation | 29 wFEUE ‘o'’ & 91 Ga9LH iUl
of resources ? eet ?
(A) Gifford Pinchot A) fmwre fr=e
(B) Harold Rose (B) wes 1M
(C) P. Hagget (C) . &e
(D) Zimmermann (D) o=
30. Who is known as the pioneer for | 30. TaumifcER AefmET=N o= TId
development of new geographical INEHEEEA IV UfHg R ?
economics ? A i T
(A) David Harvey
(B) I ==
(B) De Bljj
(C) Paul Krugman (C) e ST
(D) Andrew Cumbers (D) 31%;\7@79@
31. Who is the author of The World is | 31. ‘T dce 391 Hie' o1 UUM W@k HIU
Flat ? Rd ?
(A) Appadurai (A) STCCI'I@TIQ
(B) Johnston (B) ST%2H
(C) Kuhn (C) Hed
(D) Friedman (D) e
15 [P.T.O.



32.

33.

34.

‘Exclave’ types are identified
on the basis of which of the

following ?

(A) Degree of separation

(B) Degree of political control
(C) Degree of economic control
(D) Degree of racial segregation

Which of the following provides
philosophical underpinning to

ethnomethodology ?
(A) Positivism
(B) Modernism
(C) Phenomenology
(D) Empiricism

‘Sequent occupance’ suggested by

Whittlesey is analogous to what ?
(A) Plant succession

(B) Animal succession

(C) Soil succession

(D) Climate succession

32.

33.

34.
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USRI Yk TETeTeTdeh! shT0TeaT STERTER

ez Jdrd ?

(A) faerra=i ud

(B) USTshig fAesom=l ua

(C) enfdfer fa=om=t w4

(D) <f3rer foerierom=i ud

ETATcAh] IOl =1 ‘ seRmerelarst’
It dramTeeEs e gvifad ?
(A) TR

(B) wiEfz™

(C) TRaTfHATersi

(D) sfadEtem

Zed I gafaeral ‘Higee sfmT=’

HIME e guifad ?

(A) ITHAT STIHHTI
(B) WO SR
(C) 71 STghd"

(D) T STIHHA
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35.

36.

37.

Who conceptualised ‘ethnocracy’ ?
(A) O. Yiftachel

(B) S. Kedar

(C) A. Ghanem

(D) J. R. Logan

is the smallest spatial

.......................

level of planning among the

following.

(A) Local level planning
(B) Block level planning
(C) Five year planning
(D) Zonal level planning

Which one of the following is India’s
rank in terms of Human Development
Index among the countries of the

world in 2015 ?
(A) 130
(B) 128
(C) 127

(D) 129

35.

36.

37.

APR - 36217/11—A
‘Sohel’ ¥ Heheddl wivi HiEed 7
(A) 3. THeEA
(B) TH. &R
(C) 31 =M™

(D) . AR. @A

(A) e gdesaiiel M

[a r\\l

(B) e Ui f

[aXd 0N

(C) T=eftier TS

(D) faurta udesteria fHaeH

2015 T8R AME fgswm HEvmesT=n

TR Siter fafae e sheer

ARAT WeTeTdeh! IV HHH TR ?
(A) 130
(B) 128
(C) 127

(D) 129
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38.

39.

40.

Functional region does not

necessarily display ?
(A) Coherence
(B) Interdependence
(C) Dynamism
(D) Fixed Boundary

In demographic planning, which
indicator would not be the major

concern ?

(A) Maternal Mortality
(B) Life Expectancy
(C) Infant Mortality
(D) Gender Disparity

In 1972, based on heirarchy of
planning, Prof. Chandrashekhar
divided India into

35
13
(C) 15, 30

15

38.

39.

40.

APR - 36217/11—A
FHTAfCTR TSUT Wea arel STarEro
fowd T -
(A) TS
(B) TEEETs e
(C) e
(D) Ffv=a =i (F=iET)

e fEeHE S ey 7

e Tfed eRell S ATEr

(A) HG=T JoIel

(B) STFHM

(C) ¥ FIX

(D) fe forsman

s JuiigER 1972 §ed 9.

35
13
30

15
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41.

42.

Which of the following are

prominent stations of Konkan

railway route ?
(A) Ratnagiri and Madgaon
(B) Mangalore and Mumbai

(C) Chiplun to Thiruvanantha-

puram
(D) Mumbai to Udupi
Match the List I and List II and

select the correct answer from the

codes given below :

List I List II

(Iron ore mines) (State)

(@) Jajpur (1) Chhattisgarh

(b) Dalli-Rajhara  (2) Orissa

(¢) Baraiamda (3) Maharashtra

(d) Ratnagiri (4) Jharkhand
Codes :

(@  (®) c© (@
Aa @ O @ 6
B @ @ @O O
e O @ @ 6
o & @ @ @

APR - 36217/11—A

AU IV hIhU Iod ANTE
Y@ WS A ?

(A) T 9 TS
(B) TER 9 HoE

(C) fauew 9 forssaqm

(D) HeE o Sedl
42. A 19 G 11 A= S Sesddr
Eretl feoted fosreadyA A Sire
ferer -
T 1 T 1
(@t @) ()
(@) ST (1) SUETS
(b) S-St (2) St
() SEH (3) RN
(d) TR 4) e
Hehd :
(@ B (© @
@ @ O @ O
B @ @ @O O
e O @ @ 3
™ & @ @ @

19
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43.

44.

As per census 2011, India has

metropolitans.

(A) 21

(B) 32

(C) 53

(D) 65

India has often both floods and

droughts because :

(A) The size of the country is very

large

(B) The relief of India is highly

uneven

(C) Monsoon causes heavy rainfall

in a few months

(D) Behaviour of monsoon is highly

variable

43.

44.

APR - 36217/11—A

2011 =1 SUFUHTER, WA
TR TR,

(A) 21

(B) 32

(C) 53

(D) 65

IRA R 9 U HaeH g

(A) YRA QT MHR FU Wl 3T

(B) YRAT IeMamd afdead 31

(C) AT AredTe Aig=AT=a ShictaEia

SIER TSI gsd

(D) A=A 71 3ifa faaersia sme

20
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45. Which of the following is the | 45. wciiaTdshl HITET T A<l oM =1
easternmost major Himalayan ST T e e oy 2
tributary of Ganga river system ?

(A) feaw
(A) Tista
(B) Kosi (B)
(C) Mahananda (C) HemMal
(D) Ghaghara (D) =TT
46. Match the following : 46. S oMETl
Moments Statistical f fsra T
measures
(@ FoH (1) kel
(@) First (1) Kurtosis
®) fedm (2) faefiema
(b) Second (2) Skewness
(¢) Third (3) Mean © t3) T
(d) Fourth (4) Variance @ =get @) formn
Which one of the following is the ECHeTUsh SISl RVl STIhH e’
correct sequence of pairs ? e ?
Codes - @ ® © @
@ B ©© @
A @O @ @) @
Aa O @ @ @
B G @ 2 @
B & @ @ @
C 2 1 3 4
© @ O © @ © @ G- @ @
D @ 3 @2 @ O @ @ @ @
21 [P.T.O.



47.

48.

Degrees of freedom for two-way Chi-

square test is equal to ................ .
A n-1

B) (nq + ny) — 2

(C) (ng * ng) — 22

M -1 *-1

In SOI topographic map on scale
1 : 50,000, width of a channel is
2.5 mm. What would be the actual

width of the channel on ground ?
(A) 2.5 m

(B) 25 m

(C) 125 m

(D) 125 m

APR - 36217/11—A

47. feamia &M o S faqes geas

48.

A n-1

(B) (ny + ng) — 2
(C) (nq * ng) — 22
D) (r—1) * (-1

1 : 50,000 I FHOTEIA YR T~

g3feh THNIER TRIOEm=l el 2.5 faet

(aV (a

A, W N A a=AT= SfHaie

|

(A) 25 m

(B) 25 m

(C) 125 m

(D) 125 m
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49. Which bandwidth can be most | 49. JIym=Ifca Uifedia STUsER gfayr

useful for imaging from satellite in THesfquamdTet vt le\dl{;qr\l TaTq S
cloudy conditions ? IR 3 ?
(A) 0.4 — 0.5 pm (A) 0.4 d 0.5 pm
(B) 0.4 — 0.7 pm (B) 0.4 @ 0.7 ym
(C) 1.3 — 3.0 pm (C) 1.3 @ 3.0 ym
D) 1 mm - 1 m D) 1 mm d1m
50. Map generalization is mainly | g FeEn gmERREw o M
controlled by : Fretfea 2.

(A) Number of features to be

(A) THEMG IEEE TShrE] Tl

represented

(B) Th1®M YHTIT
(B) Map scale

(C) Area to be mapped (C) -TohETTd TrEErE &

(D) Projection of the map (D) TR &I
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APR - 36217/11—A
ROUGH WORK
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